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Modulo B
B2-LatinLibrary 2 9%
B2-PHI 7 32%
B2-TLG 7 32%
B2-Perseus 4 18%
B3-APh 12 55%
B3-GoogleScholar 7 32%
B3-JabRef 20 91%
B3-Zotero 20 91%
B4-lccuSbn 14 64%
B4-Aleph 10 45%
B4-Jstor 17 77%
B4-GoogleBooks 1 5%
B5-IndiciSommari 19 86%
B5-StiliLivelli 18 82%
B5-Note 10 45%
B5-Riferimentilncrociati 21 95%
B5-Intestazioni 10 45%

B5-RiferimentiTestiAntichi 16 73%
B5-RiferimentiBibliografici 13 59%

B5-NotePiePagina 0 0%
B5-BibliografiaFinale 9 41%
B5-Unicode 2 9%
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caselle di controllo, pertanto le
percentuali possono dare una somma
maggiore del 100%.






